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QUESTION 1

A developer added a manuallevel in the time dimension. During category generation, the developer gets a warning that
Transformer is not able to relate the categories to the parent levels. What must be done to ensure Transformer relates
the categories correctly?

A. Specify a date function for each level.

B. Specify date input format.

C. Specify an Invalid Dates category.

D. Specify a time-state rollup.

Correct Answer: A

QUESTION 2

What modeling factor affects the auto-partitioningstrategy and causes poor consolidation for partitioned categories?
A. Wide, flat dimensions

B. Well-balanced hierarchical dimensions

C. Allocated measures

D. After rollup calculated measures

Correct Answer: A

QUESTION 3

When measures are calculated after rollup, when are the calculations performed?
A. Before time state rollup takes place.

B. After allocated measures are calculated.

C. Before regular rollup takes place on all measures.

D. After relative time calculations.

Correct Answer: B

QUESTION 4

When the model contains two data sources that provide date values, how can the developer avoid ambiguity
whenTransformer sets the current time period?
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A. Disable the data source\\'s ability to set the current time period.

B. Assign the current date (obtained from the system clock) as the current period.

C. Let Transformer assign the date closest to the model\\'screation date as the current period.
D. Enter the initial current period and adjust it to match the system date and time.

Correct Answer: A

QUESTION 5

What can be done in a manual level to keep new data separate until it can be connected to the appropriate parent
category?

A. Create an orphanage category.

B. Create a special category.

C. Include categories when needed.

D. Prohibit automatic creation of new categories.

Correct Answer: A
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